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(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - - - - - - - ~
2 ~ 3 - - 72.18 0.75 - - 9.14 1.71 ~
3 ~ 4 - - 83.86 0.75 - - 9.31 1.74 ~
5 ~ 6 - - 83.86 0.75 - - 11.75 2.20 ~
7 ~ 8 - - - - - - - - ~
8 ~ 9 - - - - - - - - ~
9 ~ 1 - - - - - - - - ~
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NILBRK OBE |035BX 0Bz |035BK 0B |03BERK 0B NILBK 0BEx |03ERX oBx [035BX oFx |03LBK o
[DEAD)) [DEAD)) [DEAD)) [DEAD)) NED [DEN)) NED [DEN0)
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 100.00 @ 0.75 - - 14.25 2.66 ~
2 ~ 3 11339 = 075 | 10000 @ 0.75 - - 14.37 2.68 ~
4 ~ 5 11429 = 075 | 10000 @ 0.75 - - 14.41 2.69 ~
5 ~ 6 11657 = 075 | 10000 @ 0.75 - - 14.82 2.77 ~
6 ~ 7 11657 = 075 | 10000 @ 0.75 - - 14.82 2.77 ~
7 ~ 8 11708 = 075 | 10000 @ 0.75 - - 14.97 2.80 ~
8§ ~ 9 11708 = 075 | 10000 @ 0.75 - - 14.97 2.80 ~
9 ~ 10 | 11487 075 | 10000 @ 075 - - 14.43 2.70 ~
11~ 12 10661 = 075 | 10000 @ 0.75 - - 13.52 253 ~
12 ~ 13 - - 100.00 = 0.75 - - 13.49 2.52 ~
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